Name: Date:

Rounding Numbers 601

How do you tell which end of a worm is the head? Tickle it in the middle and see
which end laughs!

Round these numbers to the nearest 10 cents.

©) $816.07 = ) $183.41 = $7,445.68 =
@ $8,695.01 = $141.54 = $575.32 =
() $358.37 = ) $4,137.56 = $6,110.67 =
@ $922.43 = $811.29 = % $2,347.73 =
&) $631.33 = $2,634.78 = %) $377.95 =
®) $855.97 = $660.96 = %) $2,097.78 =
@ $6,687.30 = @) $686.25 = $414.08 =
$5,432.95 = %) $9,488.50 = % $511.06 =
(©) $933.52 = %) $725.42 = $215.77 =
$9,425.98 = $5,337.62 = % $315.41 =
W $977.58 = %) $265.52 = $8,492.08 =
2 $3,876.47 = $751.40 = $234.72 =
W $628.83 = @) $4,766.25 = $4,145.68 =
$277.55 =
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$816.07 = $816.10

$8,695.01 = $8,695.00

$358.37 = $358.40

$922.43 = $922.40

$631.33 = $631.30

$855.97 = $856.00

$6,687.30 = $6,687.30
$5,432.95 = $5,433.00

$933.52 = $933.50

$9,425.98 = $9,426.00

$977.58 = $977.60

$3,876.47 = $3,876.50

$628.83 = $628.80

$277.55 = $277.60

® ® ® 6 6 6

® ® ® ®

® ® ®

Name:

Date:

Rounding Numbers 601

How do you tell which end of a worm is the head? Tickle it in the middle and see

which end laughs!

Round these numbers to the nearest 10 cents.

$183.41 = $183.40

$141.54 = $141.50

$4,137.56 = $4,137.60

$811.29 = $811.30

$2,634.78 = $2,634.80

$660.96 = $661.00

$686.25 = $686.30

$9,488.50 = $9,488.50

$725.42 = $725.40

$5,337.62 = $5,337.60

$265.52 = $265.50

$751.40 = $751.40

$4,766.25 = $4,766.30
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$7,445.68 = $7,445.70

$575.32 = $575.30

$6,110.67 = $6,110.70
$2,347.73 = $2,347.70

$377.95 = $378.00

$2,097.78 = $2,097.80

$414.08 = $414.10

$511.06 = $511.10

$215.77 = $215.80

$315.41 = $315.40

$8,492.08 = $8,492.10

$234.72 = $234.70

$4,145.68 = $4,145.70
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Score:



